BAEHIPS

®FH A~% - E]

S8HE —figflE
11:00 ~ 18:00 220 -~
O A |(FA 242 )
Boﬁ (Feoh & 0 M)
11:00 ~ 18:00
880 - 1,280 =
(Bt oA # 968 M) | (B 1,408 )
[ M
(Fea - 0 M) | (@A 0 M)
SEEE —fig
18:00 ~ #9:00
304} 0 = 420 -~
(B oA # 0 M) | (BrA 462 )
18:00 ~ #6:00
7Y —%4 L 1,580 - 1,980 -
RIR24  23:00 [ 1,738 M) |(Faa 2.178 &)
ZV—%21 L i g
RIS — (B2 2 0 M) | 0 =)
18:00 ~ 35:00
¥ 3 100 &= | = xes snvsns
I (FtaA 770 M) 77 B & PR TRAAE




2ENSE —BE
(Fiar )
11:00 ~ 18:00 = - - 320 E
290 ©lms  w  w
30ﬁ (ot 242 )
11:00 ~ 18:00
1,480 = 1,880 -
(B A 1,628 ) |(FA A 2,068 =)
[ M
(Fea - 0 M) | (@A 0 M)
SEEE —figflE
18:00 ~ 39:00
304 420 = 520 -
(Bt A 462 M) [(Fiaa 572 )
18:00 ~ 0:00
7V —%4 L 2,080 = 2,480 -
=I&24F  21:00 (BtA 2,288 M) |(Ftiask 2,728 =)
22:00 ~ #6:00
7V —%4 L 2,080 = 2,480 =
RI&S4T  23:00 [ 2,288 M) | 2,728 =)
18:00 ~ 35:00 +
F 3 1500 =| = == srzens
y (Ft A ’ 1,650 M) 77 Bk &P LI TRALA
18:00 ~ £5:00 £-fE/H-MN
¥ 3 100 &= | = s snvsns
== (ot 770 =) 77 BR & FEIE RN A




QWA IFT

®FH A~% - E]

SERE —figflE
G 0 M)
11:00 ~ 18:00 O &
30ﬁ O A |(FaA A 0 M)
(Rt A 0 M)
11:00 ~ 18:00
0 = 0 =~
(B IA F 0 M) | (FEA & 0 M)
M M
(B IA F 0 M) | (FEA & 0 M)
SERE — i ElE
18:00 ~ #9:00
30ﬁ O M O [
(FtaA 0 M) | (FiA A 0 M)
18:00 ~ #6:00
7ZV—214L 0 P 0 ;
’f*%‘zh‘ 233:00 (Bt A2 0 M) (B 0 =)
M [
(s A 0 M) | (FiA 0 M)
22U L TCHOTRIEICRY £9 8 - KZEE, EMFRENR
T 7)) Bk & FEIIBRANE




®@EXk Lt -H- -

B g

11:00 ~ 18:00

305

11:00 ~ 18:00
7ZV—24 L4

R 14:00

whE

18:00 ~ #9:00

305

18:00 ~ 0:00
7ZV—24 L

=2 21:00

22:00 ~ $6:00
7ZUV—24 L

iR #3:00

SERE — AR ElE
(Feah A 11 M) O "
O m @ 0 )

(52 0 M)

0 -~ 0 -~
(FtoA A 0 M) [ (Fead & 0 M)
M A
(FtoA A 0 M) [ (Fead & 0 M)

SERS —fgklE
0 = 0 -~
(B 0 M) | (FhA & 0 M)
0 = 0 -~
(B 0 M) | (FhA & 0 M)
0 = 0 -~
(FEaA A 0 M) [(BaA A 0 M)

E RS

2B RUETOITRIEICRY £9

- K¥PE, EMFERR
77 BFRAF LIS TR




